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AP-988 

B.A. (Part–I) Examination 
PHILOSOPHY 

General Psychology (Indian & Western) 

Time : Three Hours] 	 [Maximum Marks : 100 

Note :— (1) ALL questions are compulsory. 

(2) ALL questions carry equal marks. 

1. Explain in brief : 

(1) Definition of Psychology. 	 5 
(2) Merits and demerits of 'Experimental method'. 5 

(3) Span of Attention. 	 5 
• (4) Behaviour formula. 	 5 

OR 

(1) Merits and demerits of 'Observation method'. S 

(2) Objective determinants of 'Attention'. 	5 
(3) Scope of Psychology. 	 5 
(4) Main concept of Experimental method. 	5 
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2. Choose the proper options : 

(1) Method of classical conditioning is given by : 

(a) Pavlov 

(b) Watson 

(c) Thomdike 

(d) Kohler 	 5 

(2) In this learning process given the importance to 
strengthen : 

(a) Trial and error method 

(b) Conditional response method 

(c) Learning by incite 

(d) Imitation 

(3) Correct measure of retention by : 

(a) Recognition 

(b) Imagination 

(c) Motivation 

(d) Emotion 	 5 

(4) Forgetting curve is given by : 

(a) Sparling 

(b) Ebbinghouse 

(c) Miler 

(d) Atkinson  
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Method of learning by 'Insight' is given by : 

(a) Werthiemer 

(b) Kohler 

(c) Pavlov 

(d) Skinner 

First stages of memory are : 

(a) Incoding 

(b) Retrieval 

(c) Retention 

(d) Sense 

5 

(2) 

(3) 

(4) 
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(q) 
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5 

(3) Forgetting is result of psychoanalytic view : 

(a) Inhibit 

(b) Perception 

(c) Extroversion 

(d) Emotion 	 5 

(4) Thinking process depends on : 

(a) Worry 

(b) Feeling 

(c) Motivation 

(d) Concept 	 5, 
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What is , conflicts of motive ? Explain with example kind 
of conflicts, motive and remedies about conflicts of motive. 

20 
OR 

Define Emotion and describe in detail theory . of Emotion. 
20 

Explain in brief : 

(1) Definitions and nature of 'Personality'. 	5 
(2) Social element effect on 'Personality'. 	5 
(3) Personalities misunderstanding. 	 5 
(4) Role of Heredity element on Personality. 	5 

OR 

(1) Importance of Yama, Niyam. 	 5 
(2) Ashtanga Yoga. 	 5 
(3) Swapna and Sushupti. 	 5 
(4) Kinds of Samadhi. 	 5 
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5. 	Determine mean for the following frequency distribution. 2. 	F4T-c-q.   .tf4q  

72, 75, 77, 67, 72, 81, 68, 65, 86, 73, 67, 82, 76, 76, 
70, 83, 71, 63, 72, 72, 61, 67, 84, 69, 64. 	N = 25 3v"-q-ra (1) 	3TMTFiTT9-  : 

20 (3T) lama 

OR 

Determine the value of Intelligence Quotient (I.Q.) if 
'Chronological Age' (C.A.) is 20 years and 'Mental Age' 
(M.A.) is 18 years by using the formula of I.Q. 20 
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